Apartment in Marsascala



Marsascala, South



€375,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): **107**

Reference No: 240091103-188

P☐ Bedrooms: 3

Apartment - For Sale - Marsascala

Move-In Ready Home in Malta's Coastal Gem. Step into modern coastal living with this elevated ground floor apartment in M'Scala, just a short stroll from the sea. Recently built in a small block with only two units per floor, this freehold property combines comfort, style, and exclusivity. Designed with a versatile three-bedroom layout (currently used as two bedrooms for added open space), it boasts two bathrooms and comes furnished, ready for immediate move-in. Bright, well-finished, and perfectly located close to the waterfront and all amenities, this apartment is an exceptional opportunity — whether you're searching for your dream home or a smart investment in one of Malta's most desirable seaside towns. Contact the listing agent for more information and to schedule viewing!

Features

- ✓ Kitchen/Dinette
- En Suite
- Water Utility
- ✓ A/C
- Balcony

- Ceramic Floor
- Entrance Hall
- Electricity Utility
- Partially Furnished
- Back Yard

Rooms

Kitchen/Living/Dining: 8.5 x 4.8 m (40.8 m2)

✓ Double Bedroom : 4 x 3.25 m (13 m2)

Double Bedroom : 3.75 x 3.2 m (12 m2)

Double Bedroom: 3.65 x 3.3 m (12.04 m2)

Bathroom: 3.05 x 1.7 m (5.18 m2)

✓ Bathroom Ensuite : 2.3 x 1.8 m (4.14 m2)

Open Space : 3 x 1.75 m (5.25 m2)

Open Space : 4 x 1.7 m (6.8 m2)

Gallery

















Genc Dapi RE/MAX Crown - Sliema

M: 79815038

E: genc@remaxcrown.com

T: 21342410

RE/MAX Crown - Sliema

166, 169, Tower Road, Sliema, Malta